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Before you start to answer the questions, you must check up
his Booklet and ensure that it contains all the pages (1-28)
and see that no page is missing or repeated and the Question
Booklet and the OMR sheet provided to you bear the same
Serial Number. If you find any defect in this Booklet or in
the Serial Number, you must get it replaced immediately.
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INSTRUCTIONS TO CANDIDATES

1. This Booklet contains 120 questions in all comprising the
following four parts:

Part A: General Awareness (30 Questions)
Part B: General Intelligence and
Reasoning Ability (30 Questions)

Part C: Arithmetic.and Numerical Ability (30 Questions)
~ Part D: General English 30 Questlons)

‘2. In questions set bilingually in English and Hindi, in case of
discrepancy, the English version will prevail.

3.  All questions are compulsory and carry equal marks.

Answers must be shown by completely blackening .the
corresponding circles of the OMR Sheet against the relevant
question number by Black or Blue Ball-point Pen only.
Answers which are not shown by Black or Blue Ball-point
Pen will not be awarded any mark.

5. Both OMR Sheet and Question Booklet must be handed
over to the Invigilator before you leave the Examination
Hall failing which your candidature will be suspended.

6. The manner in which the different questions ae to be
answered has been explained at the back of this Booklet
(Page No. 28) which you should read carefully before
actually answering the questions. ’

7. Answer the questions as quickly and as cérefully as you can.
Some questions may be difficult and others easy. Do not
spend too much time on any question.

8. No rough work is to be done on the CMR sheet. Blank
spaces for rough work has been provided at the end of the
question booklet. ’

9. Use of Calculators or any electronic devices are strictly
prohibited.

10. You are prohibited from writing your name or making ariy
other distinctive mark on any part of the answer book.
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PART-A: GENERAL AWARENESS

Who got 2013 Nobel Prize for Physiology
/ Medicine?

A) Thomas C. Siidhof, James Watson
and Ivan Pavlov

B) Robert Koch, Julius Wagner-
Jauregg and Randy W. Sehekman

C) James E. Rothman, Frederick G.
Banting and Elizabeth H. Blackburn

D) James E. Rothman, Randy W.
Schekman and Thomas C. Siidhof

On 15" August 1947, India got
independence. Who hoisted National
Flag on that day In A&N islands?

A) Shri. Rash Behari Bose
B)  Shri. Imam Ul Majid
C) SirJohn Richardson
D) 'MajorJohn D’Souza

Which prominent intergovernmental
organization launched the movement,
‘Education For All' (EFA)?

A) UNCTAD
B) UNIDO
C) UNESCO
D) UNDP

UN has declared 5" September as
international day of charity from the
year 2013 in the remembrance of

A) Nelson Mandela

B} Mother Teresa

C) DR. S. Radhakrishnan
D) Lal Bahadur Shastri

Who is the first female judge to be a part
of the Supreme Court of India?

A) R.Banumathi e
B) M. Fathima Beevi

C) Indu Malhotra

D) Indira Banerjee
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10.

11.

Where is Rashtriya Indian Military)

College located?
A)  Wellington

B) Khadakwasla
C) Chennai
D) Dehradun

The term ‘DAVP’ stands for
A) Directorate of Advertising & Vocal
Publicity

B) Directorate of Advertising & Visual
Publicity

C) Division of Audio-Visual Publicity

D) Department of Audio-Visual

Publicity

JEEVIKA, is the Rural Livelihoods project

of which of the following State

~ Government?

A) West Bengal
B) Bihar

C) Punjab

D) Uttar Pradesh

Who is the present Director General of -

WTO?

A) Roberto Azevédo
B) Pascal Lamy
C) Mike Moore
D) Renato Ruggiero

Who is considered as “Father of the
Indian Space Programme”?

A)  Vikram Sarabhai

B) Satish Dhawan

C) APJ Abdul Kalam

D) Homil. Bhabha

The symbol of Indian Rupee (%) is a blend
of which of the following?

A) Devanagari and Palli

B) Sanskrit and Roman

C) Devanagari and Roman

D) None of the above
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12.

13.

14.

15.

16.

17.

‘Subroto Mukherjee Cup Tournament’ is
associated with-

A) Football

B) Hockey

C) Kabaddi

D) Cricket

Which of the following states got new
high court in March 2013?

A) Manipur, Meghalaya and Tripura
B) Manipur, Meghalaya and Nagaland
C) Sikkim, Nagaland and Tripura

D) Sikkim, Meghalaya and Tripura

Who was the first Governor-General of
the Republic of India?

A) Dr.S. Radhakrishnan

B) Dr. Rajendra Prasad .

C) C.Rajagopalachari

D) None of these

Who- among ‘the followings is not a-

freedom fighter of 1857 Freedom
Movement?
A) RaniLaxmi Bai

B) Nana Saheb RN
C) Tatya Tope
D) Netaji Subhas Chandra Bose

In which one of the following battles did
Nadir Shah defeat the Mughal Emperor
Muhammad Shah?
A) Battle of Delhi

B) Battle of Karnal
C) Battle of Panipat
D) Battle of Kanpur

‘Roshni' scheme is related to -
A) Cataract Eradication Programme

B) Skill Development and Training
Programme for Rural Youth

C) Skill Development Programme for

Tribal Women

D) aNGO working for the upliftment of
Slum workers
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19.

20.

21.

22.

23.

Which is used as 3 magnifying glass?

A)  Plain glass

B) A thick glass

C) Converging lens
D) Concave lens.

The Kalinga prize is given for excellence
in the field of

A) Popularization of Science and
Technology

B) Literature
C) Cinematography
D) Sports and Games

Which of the following items is being
included in the MGNREGS?

A) Rural literacy

B) Rural sanitation

C) Rural health improvement 7
D) None of these

N 3

The ultimate cause of water movement
in plants against gravity is

A)  Osmosis

o

) Transpiration
)

0

Photosynthesis
D) Diffusion

For seeing objects at the surface of water
from a submarine underwater, the
instrument used is

"

A) telescope
B) kaleidoscope
C) periscope
D) binocular

The first ever Indo-US Higher.Edu~cation
Summit was held in

A)  Washington D.C.

B) New York

Q)

D) Los Angeles

Houston
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24.

25.

26.

27.

28.

29.

30.

Where did Gandhiji learnt the art of
Satyagraha as a practice?
A) India

B) England
C) Scotland
D) South Africa

The headquarters of the UNESCO is in
A) Geneva

B) Paris

C) Rome

D) New York

Who composed the song ‘Vande Mataram’?
A) Subash Chandra Bose

B) Aurobindo Ghosh

C) Rabindra Nath Tagore

D) Bankim Chandra Chatterjee

When was the First General Election -

held in India?
A) 1949

B) 1950-

C) 1951

D) 1952

The author of the book, “Gulliver’s
Travels” is -
A) Jonathan Swift

B) Charles Dickens
C) Charles Lamb
D) T.S. Eliot

Which of the following is the longest
dam in the worid?

A) Bhakra-Nangal dam

B) - Hirakud dam

C) Nagarjuna Sagar dam

D) Tungabhadra dam

In India, Kargil Vijay Diwas is celebrated
on

A) 26" July
B) 25% July
C) 24* July
D) 20% July

24.

25..

26.

27.

28.

29.

30.
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PART-B: GENERAL INTELLIGENCE AND REASONING ABILITY -

(Q.No. 31-33). Study the following table..

carefully to answer these questions.

(9.9 31-33). fars drfelsr &1 ALFTF A q
A gU 5 geaAl &1 Fare Ao

Population (in lakhs) of three states over
the years

Year = 115002 112003 || 2004 || 2005 || 2006 || 2007
State 4 v

ﬁwﬁﬁﬁmmﬁm(mﬂ.

¥ >
2002 || 2003 || 2004 {| 2005 || 2006 || 2007

Y _

v J 4.54\ 4.8JLE- 5.‘J 5.8 || 6.2

¢ |56 55 58] 63 66]6s]

3.2J 3.5J 3.4J 3.8 4.1J 4.4
o S.GJ 55 | 5.8 6.3J 6.6 || 6.9

31. What is the percentage increase in
population of state A from 2002 to
20037
A) 5
B) 57%s
C) 6
D) 6%/

32. What is the average population of state
B for all the years together?

A) 3.5 lakhs
B) 3.6 lakhs
C) 3.75lak.hs

D) 3.85 lakhs

33. What was the average population of all
three states in 20067
A) 5.5 lakh
B) 4.2 lakh .
C) 5.25lakh
D) 4.5lakh

(Q.No. 34-37). In the following questions, find
the correct answer from the given options.

34. ‘SOUBRCE’ are given with numbers
1234567'. Select the sequence of
numbers which arranges the letters into
a meaningful word.

A) 4216573
B) 2416357
C) 2146357

D) 2416537

31. 2002 & 2003 % T U 1 FJA6Ed &
wforrd gfg 41 &2
A) 5
B) 5%
¢ 6
D) 67%s

32. g avt FY vE |y A TT &4 A
g ST #4182
A) 359
B) 3.6
¢ 3.75¢m@
D) 3.854M@

®

33. 2006 # @ e oAt i Hwa STAEE
Fa1 4N '
A) s559@
B) 4.2¢m@
C) s5.25¢M@
D) 45em@

(9.4, 34-37). Pfaf@a & @ vds WA #,
fT 7T RAFedt # ¥ T Iea BIfeT]

34. ‘SQUBRCE’ #1 H&AT ‘1234567 & W
foram T §1 36 E&AT FHA B G Swn
R s UG T4
A) 4216573
B) 2416357

C) 2146357
D) 2416537
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35. Whatnumbershouldcomenextih453 35. 4532154532]445321345321

21545321445321345321~? — & I Fa- Fea e
A) 1 A) 1
B) 2 B) 2
C) 4 ) 4
D) 5 D) 5
36.  Select the word which cannot be formed 36. @A v gt F @ 39 s &) gﬁz}
using the letters of the given word ' f%f'HEF»T 3R 'CELEBRATION' rse
‘CELEBRATION’, " !
‘ 3Rt & A& 57 wwan|
A) TAILOR A)  TAILOR
B) ACTION B) ACTION
C) CREATE C) CREATE
D) BREATH D) BREATH

37. What letters should come next in FAG, 37.  FagG, GAF, HAI, IAH, F WA FiF-mr
GAF, HAI, IAH, ? L ,

HER JTUAT?
A) HAK A)  HAK 3
B) HAL B) HAL- ’
C) JAK . C) JAK
D) 1Al , D) JAI

(Q.No. 38-40). In each of these questions, (7.9 38-40). 3o Haal # ¥ A H gearan
groups of numbers are given which are to be ¥ g Rv v RS R T Ao &
coded as per the scheme given below. You N .

have to find out which of the answers (A), (B), AN FIMST Fear 8 Mo € 91 T §
(C) or (D) has the correct coded form of the & #la-ar sew (A), (B), (C) TT (D) § & v 71w

given numbers. VE FT WA FRT Bt 2
Numbers: 6834012579 WEA: 6834012579
Codes: SLVKMRYDB?Z HE: SLVKMRYDBZ ]
38. 734025 ' 38. 734025

A)  VBKMYD A)  VBKMYD

B) BVMKYD B) BVMKYD

C) BVKMYD C) BVKMYD

D) BVKMDY D) BVKMDY
39. 215963 39. 215963

A)  YRDSZV A)  YRDSZV

B) RYDZSV * B) RYDZSV

C) YRDzVS : C) YRDZVS

D) YRDZSV D) YRDZSV
40. 058341 40. 058341

A)  MLVKDR A)  MLVKDR

B) MDLVKR . *B)  MDLVKR

C) DLMVKR " C) DLMVKR

D) MDLKRV D) MDLKRV
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(Q.No. 41-44). In each of the following (q,#, 41-44). P=fAf@a A @ TAF T H,

questions, select the missing number/letter ferca WET / 3R F BT 710 Redt @ SR
from the given options. , h

41. Which letter replaces the question | 41. @l &1 38R 99 e &1 TU A

mark?
8 4 4 1 € 4 4 1
4 N L 7 4 N L 7
5 u ? 1 5 u ? 1
8 10 14 2 6 10 14 2
A) Q A) Q
B) R B) R
) M ) M
D) S D) S
42. Which number replaces the question 42. Fm o FEar g Red & TUe $ef?
mark?
0 O
Q) G
,®® G
A) 16 v A) 16
B) 18 B) 18
C) 19 C) 19
D) 20 D) 20
43. What time should the last watch show? 43,

A) 5:19
B) 5:20
C) 5:25
D) 5:29

10
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44. The value of the missing number in the
following place is

>
oo

A) 25
B) 37
Q) 41
D) 47

(Q.No. 45-47). Read the given information
and answer the following questions.

A man sold 8500 articles in a span of
four days. He sold 26% articles on day one.
25% articles on day 2 and 32% articles on day
3. The remaining articles were sold on day 4.

45. What is the difference between the
number of articles sold on day 1 and day
3? )

A) 510

B) 512

) 511

D) 515

46. - How many articles were sold on day 2
and day 3 together?

A) 4843
B) 4848
C) 4845
D) 4844

47. How many articles were sold on day 47

A) 1448
B) 1445
C) 1454
D) 1444

(Q.No. 48-50). In the following questions, you
will be looking at both the letter pattern and
the number pattern. Fill the blank in the
middle of the series or end of the series.

48. BCB, DED, FGF, HIH,

A) HH
B) JHI
c) u
D) JKI

.44. frfaf@a & J9ar g #7482

4 6 s, 7 3 5
29 ? 19
5 6 4
A B [ S

A) 25
B) 37
) 41
D) .47

(¥, 45-47). &3 a0 HIar & G
faf@a weat &1 e a9,

T WA IR RH & Fara H 8500
g F JTAT 8. TES & 26%, gE RAH 25%
AR Ay R F 32% ol F dwn G A A
Iv g AT RE. .
45. qgar R 3R Y Rt o 3 g ot A

FEar & T F AR F=a §? :

A) 510

B) 512

C) 511
D) 515

46. g AR MW A W Fo fhda @t &
CRIK

A) 4843
B) 4848
C) 4845
D) 4844

47. Y F A fFden @ 91 TP

A) 1448 .
B) 1445
C) 1454
D) 1444

(%.%. 48-50). A=Taf@d weaA & 319 3eR Tgid
JuT gEgr ggfa e #egs ar ifad A A

greh FyE F qfd P

48. BCB, DED, FGF, HIH,
A) HIH

L B) JH

c) Ul
D) JK

11
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49. PsQR, P,QS, PsQT, ,P,QV
A) P,QU
B) PQV
C) P.QW
D) PQsU
50. SCD, TEF,UGH, WKL
A)  CMN
B) VI
c) ull
D) UT

(Q.No. 51-54). Please refer to the data in the
following table and answer the questions
given below.

Number of employees (in thousands) in seven

49. PsQR, P,QS, P:QT, : X "SJQV
A)  P,QU
B) PQV
C) P,QW
D) PQsU
50. SCD, TEF, UGH, , WKL
A)  CMN
B) VU
¢ ui
D) UT

(9.8, 51-54). Bt Ao 3F st @ & 3R
AT T v gt &1 3eaw f.
Rt ol & W R d9 3§ R &

different banks at different cities AT (2 #)
(F-Female, M-Male) (F-afgen, M-ge)
Bank City Bank City
Patna | Mumbai |Chennai | Bhopal Patna | Mumbai [Chenai Bhopal
FIMI FIM|IF|{M|FlM FIM| FIM|IF|IM]F| M
A |33|24|36 |27 |31]22 |20]23 U [33]24]36 |27 |31)22 12023
B |45[21]26 |30 |32]29 [33]27 &1 | 45) 21126 130 132129 1332
C |20]29]23 |26 |36]27 |36]26 # 120129123 |26 |36 27 |36]26
D |3627]17 |39 [33]|22 [27]29 S 362717 |39 133,22 127129
E [34]|27[32 |48 [22]24 | 44|22 § |34 | %732 |48 (n2)24 (442
F_|22[31]39 |16 | 29|21 | 23|27 U 22131139 116 129)21 |23
G |56|63[32 |29 |33[29 |[53]26 Sh |56 6332 |29 |33]29, 5326
51. How many employees are thereinBankD | 51. Jewi$ & o & (qut iR ARt ah) 7
(both males and females) in Chennai? fraa sdar
A) 55000 A) 55000
B) 44000 B) 44000
C) 33000 C) 33000
‘D) 22000 D) 22000
52. The number of males is highest in which 52. qmé;ﬁ;{ﬁt&"mﬁgmﬁ@rmm
bank in Patna? 7T &7
A) A A) A
B) G B) G
c) D ¢ D
D) F e D) F
53. What is the difference between the 53. Ha$ A d& A A g f wedm 3R

number of males and the number of
females in Bank C in Mumbai?

A) 30
B) 300
C) 3000
D) 30000

Afgem3t & geur & ST 3w Far &2

A) 30

B) 300
¢) 3000
D) 30000
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54. The number of females is highest in
which Bank in Bhopal?

A) C
B) A
C) B
‘D) G
(Q.No. 55-57). In each question below a
combination of Name and Address is given
followed by four such combinations under the

option (A), (B), (C) and (D). You have to find out
the combination which is exactly the same.

55. D.S. Patra
16/309, M.I. Road, Sihora-369705
A) D.S. Pitra
16/309, M.I. Road, Sihora-369705
B) D.S. Patra
26/309, M.l. Road, Sihora-369705
C) D.S. Patra
16/309, N.L. Road, Sihora-369705
D) D.S. Patra

16/309, M.l. Road, Sihora—-369705

56. Bardoli & Co.

Tele - 95639891, Fax-14632636
A) Bardoli & Co. “

Tele - 95639891, Fax-14632636
B) Bardoli & Co.

Tele - 95639891, Pin- 14632636
C) Bhardoli & Co.

Tele - 95639891, Fax-14632636
D) Bardoli & Co.

Tele — 95639891, Fax- 24632636

57. HariBhai Papat -

Tele — 6389052, Surat - 358953
A) HariBai Papat

Tele — 6388052, Surat - 358953
B) Hari Bhai Papat

Tele - 6389052, Surat - 358953
C) HariBhaiBapat

Tele — 6389052, Surat - 358953
D) HariBhai Papat

Tele - 6388052, Surat - 358953

54, AT & @i9 @ dF F ARt d g

a9 FET £2
A) C
B) A
C) B
D) G

(¥H. 55-57). A A a0 9AF wem A v
A IR T F wAe ¥ e dgd e
(A), (B), (C) 3R (D) & WY IR &E & wAAT
& a1 T &1 IN9R 3W WA F AT ST
¢ o Rega & & a

55. 3wy, um

16/309, TH.ATS. U3, ﬁ’ﬁ"m - 369705
A) drug. R g

16/309, TH.3ME. U3, fAERI- 369705
B) vy gm

26/309, TH.HE. V3, fABRT - 369705
C) frww. g .

16/309, TA.TH. U3, fABRT - 369705
D) Arvw. um

16/309, TA.NE. U, fAENT - 369705

56. SRS Uz Fuedr

ol - 95639891, thar ~ 14632636

A)  SREYN U3 FHus
ol - 95639891, thary — 14632636

B) ansWh U3 Fwed
Tl - 95639891, fA - 14632636

C) #REEN Uz Sy
el - 95639891, thad - 14632636

D) SRS U &ue _
ol - 95639891, theFq - 24632636

57. &0 &g ge
Tell - 6389052, HIA - 358953
A)  glt @18 umae
el — 6388052, I - 358953
B) &l o ume

& - 6389052, {IA - 358953

0 & 91 Se

v el - 6389052, {IA - 358953
D) & #118 ue
Tell - 6388052, {IA - 358953
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58.

59.

60.

D) 11.55a.m.

Choose the figure which is different from
the rest.

B=l=10

M 2 3 @
A) 1
B) 2
) 3
D) 4

In the following sequence of alphabets,
which letter would be at the middle of
the fourth and sixteenth letters from the
right?

58.

59.

3 3T BT TG FY A T R H HAT

gl
M @ @ @
A1
B) 2
c) 3
D) 4

aofarer & frafaf@a A & Fia &/
e e ¥ I 3R derd AeRT & ALY
# gem

ABCD'.E'FGHIJKLMNOPQRSTUVWXYZ

A T
B) M
) N
D) Q

A train for Chennai leaves every thirty
minutes from Coimbatore railway
station. An enquiry officer told a
passenger that the train had already left
ten minutes ago and the next train will
leave at 12.35 a.m. At what time did the
enquiry officer give this information to
the passenger?

A) 12.00 a.m.
B) 12.05a.m.
C) 12.15a.m.

60.

FrRTR Ted WA ¥ | a9 e A
AeAs & AU vw ¢ T B TH IBAS
HRFH ¥ v A F qaran 6 A Tgd
A & 2w Ao 9o o) a1 At 3R 3rTel
FATAF 12:1589 TEUA FEN| [BAS
HRIFRY 3 TE S A A R
ARV

A)  12.00 TUA.

B) 12.05T.UAH.

C) 12.15 T.UA.

D) 11.55 W.UA.
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PART-C: ARITHMETIC AND NUMERICAL ABILITY

61. When 11 is subtracted from twice a 61. &9 11 & Fdh g & I geran, @b
number the result is 15. Set the qfoTA 15 urcd 837 | ¥ v g

equation. B

A) 2x-11=15 A) 2x-11=15
B) 11-2x=15 Bj 11-2x=15
C) 2x-15=11 . C) 2x-15=11
D) 11-(x+2)=15 D) 11-(x+2)=15

62. Which of the following is not a prime 62. fara &7 @ 39 € yus gear eI 7

number?

A} 337 A) 337
B) 391 B) 391
C) 241 C) 241
D} 571 D) 571

63. If 5 person walks at 14 km/hr instead of 63. 3fe FIE cufdq 10 BFA / ber A g3117 14
10 km/hr, he would have walked 20 km freft/ Her Y R @ T a3y 20 fEl
more. The actual distance travelled by . Do g—— \ T &

him is:

i gl &
A) 56km A) 56 f. o
B) 70km B) 70 k..
C) 80km C) 80 f&..
D) 50km D) 50 fw.A.

64. The sum of three numbers is 98. If the 64. Fﬁﬂmaﬁaﬂm%%lqﬁqﬁﬁﬁqyilw

ratio of the first to second is 2 : 3 and IHegaTd 2:3 gmmgmmmg
that of the second to the third is 5 : 8,

then the second number is: 8%, HTWH@T%.
A) 30 A) 30
B) 48 : B) 48
C) s8 C) 58
D) 20 D) 20

65. Two bus tickets from city A to B and 65. aRUANF I e AR v T

three tickets from city A to C costRs. 77 1 e e Y am9ra 77 T fWwAaR Ty
but three tickets from city A to B and two

tickets from city A to C cost Rs. 73. What ek e feee 3R <1 @ A ol e i o et

are the fares for cities B and C from A? FAAT 73 TG T F A AR A ot
farrar foraar €7

A) Rs.15,Rs. 14 A) %.15,%. 14

B) Rs.17,Rs.13 I© 8 %17,%13

C) Rs.4,Rs. 23 C) %.4,% 23

D) Rs.13,Rs. 17 : D) %.13,%.17
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66.

67.

68.

69.

70.

A right triangle with sides 3 cm, 4 cm and
5 cm is rotated to the side of 3cm to form
a cone. The volume of the cone so
formed is:

A) 12rcm?
B) 15mcm?
C) 1é6ncm?
D) 20mcm?

The shape of the garden is rectangular in
the middle and semicircular at the ends
as shown in the diagram. Find the area
and the perimeter of this garden.

66.

67.

e T frager 3 dof; 4 FEAT IR 5

G o3 & HTY TF AF qaA1 & folw 3
[ AN IR AT AR | $H THR AT 7T
AF T ITIAA g

A) 12na#3

B) 15n@{.#13

C) 16na.#A3

D) 20n@.#?

TF TN & ER AT # AR HR
OR W Fdgeara ¢ Siar I # fewran
T g1 3w w9 @ ey 3R oY g
cdi

\

m

A) 48 m?and 129.5m
B) 132.5m?and 46 m
C) 129.5m?and 48 m
D) 46m?and 132.5m

7.83-(3.79-2.56) =7

"A) 6.6
B) 4.04
C) 1.48
D) 6.06

What least number must be added to
1056, so that the sum is completely
divisible by 23?

A) 3
B) 2
c) 18
D) 21

A circle having a radius of 14 cm is
divided into 5 equal parts. What is the
length of outer boundary of each part?

Al 15; cm Al 15; Faf.
B) 17% cm B) 17% ..
q 20 cm Q) 20% a.4 .
D) 195 cm D) 19;- a4

|

3>

68.

69.

70.

A) 48 #v.2and 129.5 7.
B) 132.5#?and 463
C) 129.5#and 48 #
D) 46#?and 132.5#

7.83 - (3.79-2.56) = ?
A) 6.6

B) 4.04

C) 1.48

D) 6.06

FieT-HY FgTAH HEAT 1056 A ST AT, TR
R 23 @ quier: RS R

A) 3

B) 2

c) 18

D) 21

14 J#Y & BT ATel T Go i 5 SR AT
# Jorforg g T §1 vl AT &Y ared)
AT Y oGS FATE?
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71.  Find the number of zeros at the end of 71. INE & 39 A AT HT HEIT FT g4l
the product: 50 x 625 x 15 x 10 x 30 9T 50 x 625 x 15 x 10 x 30

A) 10 A) 10
B) 9 B) 9
) 12 C) 12
D) 3 A D) 3
72.  The diagonals of a rhombus are 7.5 cm 72. u& Fﬂﬂ@ﬁjﬁ FT1 oot 7.5 Q.. 3k 12
' and 12 cm, then its area is . Q. mmma—mg?
A) S4cm? A) 54 ..
B) 50 cm? B) 50@.#1.2
C) 48cm? C) ag8q.#A.2
D) 45cm? D) 453.#.2

The following bar graph shows the sale of books (in thousand number) from six-branches of a
publishing company during two consecutive years 2000 and 2001. Study.the bar graph and answer
the question no. 73 based on it. -

famfaf@a sv 71w 2000 3117 2001 %mﬁﬁ%ﬁmmmm@:ﬁa‘%a‘gemﬁﬂ
Wﬁﬁﬁm%(mmﬁ)lmwmmmﬁmwwmﬁamam
73 & 3ca & '

Sale of Books (in thousand numbers) from Six branches — B1, B2, B3, B4, B5 and B6 of a Publishing Company in
2000 and 2001
BF W @ AR f WA (@R T F) - 2000397 2001 F wF g FaaAT & dh, a2, i3,

14, s 3 e
120
110
£ 100
T 9 LA,
_.E 80 i3
T 70
¢ 60 -
£ 50 4
£ 40 -
¢ 30
& 20 -
10
0 -
B4
Branches #2000 = 2001
73.  What is the ratio of the total sales of 73. gt ast& fav emar g &Y ot frshr I emar
branch B2 for both years to the total 1 2 Fr et fashr T sreTaTa YAt ast & fro a7
sales of branch B4 for both years? e ? °
A) 7:9 A) 7:9
B) 2:3 -B) 2:3
C) 3:5 C) 3:5
D) 4:5 D) 4:5
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74.  Rani's weight is 25% that of Meena’s 74, Uil T a7t AT & g7y 7 25% IR arT &
weight and 40% that of Tara’s weight. TSI P 40% ¥| ART F TGO @ fraey

What percentage of Tara’s weight is
T a3l g7
Meena’s weight? : sfaRra & X

A)  155% A)  155%

B) 160% B) 160%

C) 165% C) 165%

D) 170% D) 170%

75. What is 15 percent of 347 75, 34T 15 9fRIg frgar glar &2

A) 4.10 A) 4.10

B) 3.10 B) 3.10

C) 5.10 C) 5.10

D) 2.10 D) 2.10

76.  Ondividing a number by 56, we get 29 as 76.  TEH HEAT #Y 56 faanfoa &= R, &

remainder. On dividing the same BT F 7 3 29 B TR N
number by 8, what will be the ‘

remainder? e Fa w, AT e gl

A) 7 A) 7

B) 6 B) 6

C) s Q s

D) 4 D) 4

77. The LCM of two numbers is 48. The 77. aﬁwaﬁwm 48 &1 I HETY 23

numbers are in the ratio 2 : 3. Then sum FIqUE AL A HEAT3 7 gverer g
of the numbers is: " ’
A) 28 _ - A) 28
B) 32 B) 32 e
C) 40 Q) 40
D) 64 D) 64
78. What number should be subtracted 78. Emmg;ﬁq =3 TPl TS
-3 5 6 4 .
from —, Soastoget 2 ? S aiRe?
A) -3 A) -3
10 10
B) -5 ‘ B) -5
24 24
) -19 € -19
EVE - 12
D) ¢ D) o9
25 | 25
79. A sum of money at simple interest . . 79.  @YROT SIS A Frafrs ast# 815 9y
amounts to Rs. 815 in 3 years and to Rs, 3R 4\ F 854 T & T 2| ag ufr %
854 in 4 years. The sum is: . ‘
A) Rs. 698 A) ¥ 698
B) Rs.700 B) . 700
C) Rs.650 C) % 650
D) Rs.690 D) . 690
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80. 0.0203 x 2.92 _ 80. 0.0203 x 2.92 _
0.0073 x14.5 x0.7 0.0073 x14.5 0.7
A) 1.45 A) 1.45
B) 2.40 B) 2.40
) 3.25 C) 3.25
D) 08 D) 08
81. 8:4(3-2)x4+3-7=7? 81. 8+4(3-2)x4+3-7=7
A) 3 A) -3
B) 5 B) 5
C) 4 ) 4
D) -4 D) -4
82. The Median of the data 24, 36, 46, 17, 82. 24,36, 46, 17, 18, 25, 35 &1 AR FAT
18,25,35is a3 |
A} 24 A) 24 .
B) 25 B) 25 i
C) 35 C) 35 -
D} 18 D) 18
83. If Rs. 782 be divided into three parts, 83. afg 782%9d &+ At sont & RwfSa BFar
; 1.2.3 ' ; 1 2 3 :
proportional to 230 then the first arar g, S5 ¥ HAa &, @ gger AT
partis: 3.
A) Rs.204 A) 3. 204
B) Rs.182 B) % 182
C) Rs.190 C) % 190
D) Rs.196 D) % 196
84. A polyhedron has 7 faces and 10 84. wx SB[ & U 7 T AR 10 FEhR
vertices. How many edges does the m?TWM$WW%?
polyhedron have? i o o
A) 21 - A) 21 . B
B) 15 B) 15
) 20 C) 20
D) 12 D) 12
85. If selling price is doubled, the profit 85. gfe | fr fFg aﬁ'{g;ﬂ AGIEGIE ] f?«rzmr
triples. Find the profit percent. BT ¥ o T wfaerd saEd|
A) 662 % A 662 %
B) 105§% B) 105% %
C) 100% C) 100%
D) 12% D) 12%
86. Find: 4128.237 + 1000 86. Aa FIFFA: 4128.237 + 1000
A) 4128237.0 © A) 4128237.0
B) 41.28237 B) 41.28237
C) 0.4128237 C) 0.4128237
D) 4.128237 D) 4.128237
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87.

88.

89.

90.

What will be remainder when (67¢7 +
67) is divided by 68 ?

A) 1

B) 63
C) 66
D) 67

In a 2-digit number, the unit’s digit is
three times the ten’s digit and the sum
of the digits is 12. The number is

A) 39

B) 54
C) 93
D) 45

15% of Rs. 50 is equal to
A) Rs.25

B) Rs.12%

C) Rs.9%

D) Rs.7%

Find the approximate value of 234 17 +
153x18-13%x3.7

A) 250
B) 220
C) 241
D) 230

87.

88.

89.

90.

S9 (67% + 67) 68 @ %mﬁm g ar
A9 FgT gram?

A) 1

B) 63

C) 66

D) 67

a1 3R wEwr #, gfae dean aeTs W @
Aol @ iR e w128, 9% deard
A) 39
B) 54
C) 93
D) 45

%.50 #T15% foreas sRme &2
A) ¥ .25

B) ¥ .12%

C) ¥ .9%

D) ¥ .7%

234 +17 + 153 x 18 - 13 x 3.7 & HFAIAA

Ao gasd|

A) 250

B) 220

C) 241 &
D) 230
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PART-D: GENERAL ENGLISH

(Qs. 95-97). Four alternatives are giveri for the
given explanation. Choose the alternative which
best expresses the meaning.

(Qs. 91-92). A sentence has been given in
Active/Passive Voice. Out of the four
alternatives suggested, select the one which

best expresses the same sentence in Passive /

Active Voice. 95.  An.animal story with a moral
. A) Narrative
91. Rain disrupted the last day’s play B) Fable
between India and Sri Lanka. C) Parable
A} The last day’s play of India and Sri D) Anecdote
Lanka was disrupted by rain.
B) India and Sri Lanka’s play of the last 96. A person who conducts a television show
day was disrupted by rain. A) Director
C) The last day’s play between India B) Producer -
and Sri Lanka was disrupted by rain. C) Host ’ ~-
D} The last day’s play between India D) Conductor
and Sri Lanka were disrupted by rain ) -
97.  Identification with the feelings of another
92. The residents celebrated Independence A) Apathy

Day.

A) Independence Day is celebrated by
the residents.

B) Independence Day was celebrated
by the residents.

C) Independence Day has
celebrated by the residents.

D) Celebration of Independence Day
was done by the residents.

been

(Qs. 93-94). Sentences are given with blanks to
be filled in with an appropriate word(s).
Choose the correct alternative out of the four

B) Sympathy
C) Antipathy
D) Empathy

(Qs. 98-100). In each of the following questions,
choose the one which best expresses the
meaning of the italicized bold part of the
sentence.

98.

Harish ran the marathon race in less than
two hours.

A) succeeded
B) completed

e
&

alternatives. C) rushed
v D) scored
93.  Yogeshwar Dutt put him the
Beijing disappointment and a serious 99.  He s quite meticulous in his dealings with
injury to realize his Olympic dream with others.
a gutsy show. A) reserved
A) behind . B) haughty
B) beyond C) very careful
C) above D) indifferent
D) over )
100. He hardly works.
94. labstained _______ food for two days. A) scarcely
A) by B) strenuously
B) with ; C) mostly
C) from D) arduously
D) beside
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(Qs. 101-105). In the following passage, some
of the words have been left out. Read the
passage carefully and choose the correct
alternatives and fill in the blanks.

The presence of certain makes
friendship a special relationship. A true friend
is consistent and honest. A is not afraid
to give an honest and does not say
things for the sake of getting approval. A friend
provides companionship and continuous

. There is no room for pride, or
rivalry in friendship.

101. A) qualities
B) qualify
C) frequencies
D) degrees

102. A) befriend
B) friend
C) friendship
D) friendly

103. A) opinion
concern
dominion

suggestion

104. A) support
B) provide
C) suppress
D) supportive

105. A) jeopardize
B) humility
C) open-mindedness
. D) jealousy

(Qs. 106-107). In each question below, some
words are given, one of which may be wrongly
spelt. Find out that word, the spelling of which
is wrong.

106. A) Instantanious
B) Intermediate
C) Intermittent
D) Interference

107. A) Democracy
B) Aristocracy
C) Courtasy
D) Advocacy

(Qs. 108-110). In each of the following
questions, a sentence has been given in Direct /
Indirect Speech. Out of the four alternatives

| suggested, select the one which best expresses

the same sentence in Indirect / Direct Speech.

108. “Please don’t go away”, she said to me.
A) She said to please her and not go
away.
B) She begged me not to go away.
C) She told me not to go away.
D) She begged that I not go away.

109. He said to hér, “Are you coming to the
party?”
‘A) He asked her that she was coming to
the party.
B) He told her if she was coming to the
party.
C) He asked her if she was coming to the
party.
D) He asked her if she will be coming to
the party.
110. My cousin said, “My room-mate snored

throughout the night.”

A) My cousin said that her room-mate
had snored throughout the night.

B) My cousin told me that, her room-
mate snored throughout the night.

C) My cousin complained to me that her
room-mate is snoring throughout the
night. .

D) My cousin felt that her room-mate
may be snoring throughout the night

(Qs. 111—112). Fill in the blanks with the correct
option given below.

111. 1 shall discuss my problem with you
I meet you next.
A) since
B) whenever
C) till
D) until
112. The city police against road

rule violators.

A) is being launched a special drive
B) had been launched a special drive
C) have launched a special drive

D) were launched a special drive
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(Qs. 113-115). Find the correct Synonyms. (Qs. 118-120). Choose the word opposite in
meaning to the given word.
113. EMBEZZLE
A) Remunerate 117. ADVERSITY
B) Misappropriate A) Diversity
C) Balance B) Affliction
D) Clear : C) Catastrophe
D) Prosperity
114. STRINGENT o
A) Shrill . 118. IMPULSIVE
B) Strained A) Considerate
C) Dry B) Cautious
D) Rigorous C) Clever
D) Cunning
115. MOROSE
A) Gloomy 119. TENTATIVE
B) Angry A) Immediate
C) Moody B) Urgent
D) Annoyed C) Developed
D) Final" -
116. AUGUST :
A) Petty : 120. INDIGENOUS
B) Dignified A) Foreign
C) Ridiculous B) Native
D) Common C) Inferior
D) Cheap
T*[R[x [ %)% [
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Time allowed: 2 hrs.

10.

11.

12.

13.

14,

15.

16.

17.

18.

19.

20. .

21.

22.

23.

24,

25.
26.
27.
28.
29.
30.
31.
32,
33
34,
35.
36.
37.
38.
39.
40.
41,
42.
43
‘44.
45,
46.
47.

48.

ANSWER KEY
49. A
50. B
51. A
52. B
53. C
54. D
55. D
56. A
57. B
58. A
59. D
60. C
61. A
62. B
63. D
64. A
65. D
66. A
67. C
68. A
69. ‘B_
70. B
71. ;D

72. D

3k ok ok ok ok ok ok ok ok ok ok ok

73.
74.
75.
76.
77.
78.
79.
80. |
81.
- 82
83.
84.
85.
86.
87.
88.
89.
90.
91.
92.
93.
94.
95.

96.

MM: 120

97. .

98.

99.

100.
101.
102.
103.
104.
105;
106.
107.
108.
109.
110.
111.
112.
113,
114,
115.
116.
117.
118.
119.

120.



